H & 0l & AHS B Ml A

&elr XFAe SXXIE (SH9 H2)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hunsz
=8I=X1t 34,441,571 33,350, 127 1,091,444
= 16,830,044 16,374,524 455,520
s 641,911 641,911 0
| 37,000 37,000 0
(= 3,205,783 3,107,545 98,238
o 13,726,833 13,189,147 537,686
XGAeI2E S& 2,183,187 2,189,568 26,381
= 1,300,339 1,300,221 118
= 98,013 97,546 467
= 784,835 791,801 26,966
X Atgl XX 555,979 564,029 28,050
T 18,914 18,914 0
= 537,065 545,115 A\8,050
0= K& 25,860 28,860 /3,000
202 0itl 3,000 6,000 A3,000
01 =04 bl 3,000 6,000 A3,000
o= ARFA
d3 20,0002 %5 *30 3,000 6,000 23,000
KSALE S XA E 30,570 33,520 22,950
(= 4,106 4,106 0
= 26,464 29,414 A2,950
201 2Et2 & 2,500 1,500 1,000
01 At22telt] 2,500 1,500 1,000
oXNGAISIBEHE 2, 3o =Hl €8 S
28 250,000 %102 2,500 1,500 1,000
307 @Izl & 18,550 22,500 N3,950
= 1,250 1,250 0
= 17,300 21,250 A3,950
06 283 8,550 12,500 23,950
O MBISXISALAF SHlacHEE X1 (KHl)
Z&E 10,0002 +605H 13 6,050 10,000 23,950
KNEAS &M 28 X 12,700 14,800 22,100
307 QI2H0| A 1,500 3,600 22,100
03 SIRIHMEHE2HHIBE 1,500 3,600 A2,100
oXNGAI2EE M 2 XA
Z & 300,000& 53 1,500 3,600 A2,100
HEX# 1,627,208 1,625,539 1,669
= 1,300,339 1,300,221 118
= 79,09 78,632 467
i 247,770 246,686 1,084
KNSETEHE 2 (8x) 245,500 245,331 169
= 171,850 171,732 118
= 24,550 24,533 17
= 49,100 49,006 A
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S FRI= XD
B NAMERE B

el X (EEEE))
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
307 212t01™ 245,500 245,331 169
= 171,850 171,732 118
== 24,550 24,533 17
T 49,100 49,066 34
10 Al SXAIEEHE2EHI2x 245,500 245,331 169
o XS HEHE 23
& 20,458,330 1 A 12 245,500 245,331 169
= 171,850 171,732 118
== 24,550 24,533 17
ia 49,100 49,066 34
K& Abell2tel 33,200 31,700 1,500
= 9,960 9,510 450
s 23,240 22,190 1,050
307 212t01™ 33,200 31,700 1,500
= 9,960 9,510 450
= 23,240 22,190 1,050
10 Al SXAEEHE 22X 33,200 31,700 1,500
o XHEAtI2 e
dE 2,766,606« 18128 33,200 31,700 1,500
== 9,960 9,510 450
[ia 23,240 22,190 1,050
2258 A= =32 5 NIAL(STALY) 153,306 153,306 0
= 122,645 122,645 0
s 9,19 9.19 0
a 21,462 21,462 0
307 @I2t01 & 153,306 183,306 0
= 122,645 122,645 0
= 9,19 9,19 0
= 21,462 21,462 0
11 ARRIS XA E X 153,306 163,306 0
o5 IISSHI
& 200,000 x1E~128 2,400 1,246 1,154
= 1,920 997 923
= 144 75 69
= 336 174 162
cUYIISSH
& 400,000 x5~ 128 24,000 6,176 17,824
= 19,200 4,941 14,259
= 1,440 371 1,069
i 3,360 864 2,4%
cHEAUL M= (R ?I=N)
d & 93,5363 +60E~12& 67,346 86,324 /18,978
= 53,877 69,059 ~15,182
=S 4,041 5,179 A1,138
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2A:

=X

I XSAERY ST
chel: KR (St &)
SA - B SLA(B) - HRAY - BES ol ko ol & o RS2
| 1] = 9,428 12,085 12,658
2izszel 2 X 1,542,673 1,542,100 573
= 170,360 167,100 3,260
2 1,372,313 1,375,000 12,687
2Euz 29 1,542,673 1,542,100 573
= 170,360 167,100 3,260
= 1,372,313 1,375,000 12,687
SR BA L 2SO X 137,213 137,900 1687
= 2,000 0 2,000
z 135,213 137,900 12,687
201 Y2 t| 4,75 6,000 A1,245
03 BALE | 4,7% 6,000 A1,245
oHEY HAl 4,7% 6,000 A1,245
SUEL] 2 34,1002 35 1,600 A1,245
301 YRS 11,110 11,900 AT
11 SAFAIHI X212 3,110 3,900 AT
oHEY WA BN BEIIE 24
ZE 10,0002 5221 2,210 3,000 AT
307 2I2H0I A 118,304 117,000 1,304
= 2,000 0 2,000
= 116,304 117,000 1606
EIEIEPONETEES 43,200 41,200 2,000
oS24 HAAY(DZ3Z 20| A
) 2,000,0002!+13] 2,000 0 2,000
= 2,000 0 2,000
04 BIRIBAAII B E 6.3%4 7,000 1606
©6. 25 J|E B A} 2 6,393,300 6.3 7,000 1606
405 XHaHEI S| 2,954 3,000 A6
01 XU 2EF|SH| 2,954 3,000 146
oR&5|2 It 7Y
2 2,953,500 2,954 3,000 146
SYRIN BF BEYNLY 2,880 1,620 1,260
= 2,880 1,620 1,260
301 Y2 2,830 1,620 1,260
= 2,830 1,620 1,260
03 APBI 2 E A6 2 (XLTHE) 2,880 1,620 1,260
oMRLE SYRTA RE 2EHHLY
ZF 30,0002 58+ 122 2,880 1,620 1,260
= 2,830 1,620 1,260
Zojol =SXSE 17,642,177 17,954,500 A312,332
=2 7,828,277 7,765,309 62,968
= 1,822,747 1,782, 161 40,586
= 7,991,153 8,407,039 415,886




2A:
X XH -
o e

=aak

SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
OHQ! Merory X2 17,642,177 17,954,509 A312,332
= 7,828,277 7,765,309 62,968
= 1,822,747 1,782,161 40,586
[Ea 7,991,153 8,407,039 415,886
ZOoHel AR X EHHAIZ 283,700 275,000 8,700
S 12,000 12,000 0
s 271,700 263,000 8,700
307 lztol & 183,700 175,000 8,700
= 12,000 12,000 0
= 171,700 163,000 8,700
03 2N EE2SHIE X 32,200 28,000 4,200
oYY TMLE =4
dd 32,200,000 104 2 32,200 28,000 4,200
1 AMISXAEEX 63,500 59,000 4,500
ST HSHE 2Y
dd 2,375,000« 1+ 122 28,500 24,000 4,500
ZoHe! JHeI2HAIE XI& 1,002,466 970,516 31,950
= 200,493 194,103 6,390
= 801,973 776,413 25,560
307 elztol & 1,002,466 970,516 31,950
T 200,493 194,103 6,390
o 801,973 776,413 25,560
10 AlISXAAZEHE 22X 1,002,466 970,516 31,950
oZHe = HAIE XIH
ZE 125,308, 2503 20 %42 | 1,002,466 970,516 31,950
= 200,493 194,103 6,390
o 801,973 776,413 25,560
ZOHRIE AL XIRHE 2 131,040 112,016 19,024
= 32,728 27,020 5,708
= 98,312 84,99 13,316
307 elztol & 131,040 112,016 19,024
T 32,728 27,020 5,708
Ea 98,312 84,996 13,316
02 2IZHBYAIHE A 65,200 46,176 19,024
SZOHQ! HOAAE Fa=ERAHT7500H A )
34 65,200,000 65,200 46,176 19,024
= 19,560 13,852 5,708
o 45,640 32,324 13,316
Z0H XIGMHEAIE &X 2,828,000 3,358,000 A530,000
401 AlEHIZL R0 2,828,000 3,358,000 A530,000
01 AlZHI 2,828,000 3,358,000 /530,000
oFHQ MAMEAIE EXIAIY EXI0HHI
&3 1,470,000,000& 1,470,000 2,000,000 530,000
ol =HIXIHA 148,975 97,966 51,009
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2A:

A _X:*OH I X158
Celr ZOoHe! MEotE X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 119,180 78,373 40,807
S 8,939 5,878 3,061
s 20,8%6 13,715 7,141
308 KXIEHMSOIS 148,975 97,966 51,009
= 119,180 78,373 40,807
= 8,939 5,878 3,061
= 20,856 13,715 7,141
11 I 2SO0t 4EAS AL S| 148,975 97,966 51,009
o Z0He! 22
B 37,243, 7502 +42D| 148,975 97,966 51,009
= 119,180 78,373 40,807
== 8,939 5,878 3,061
= 20,856 13,715 7,141
ZoHel A Xt X2 (SXILXt2l) 155,225 185,225 0
= 77,612 77,612 0
== 23,284 23,284 0
= 54,329 54,329 0
101 2124d| 151,775 185,225 A3,450
= 75,887 77,612 A1,725
= 22,766 23,284 Ab518
s 53,122 54,329 A1,207
04 JIZtN22 X sE 151,775 185,225 A3,450
o Z O L Xt I%( Xxiel) er24H1(201-0
12 S¢d) ZE 549,908 23128 151,775 155,225 A3,450
= 75,887 77,612 N1,725
= 22,766 23,284 Ab18
s 53,122 54,329 A1,207
201 L= 3,450 0 3,450
= 1,725 0 1,725
(= 518 0 518
s 1,207 0 1,207
01 AlR2telHl 3,450 0 3,450
oZOfIA X2 XA (SXILXel) 2Z81(101-0
40N S3E) 12,5002 23 * 128 3,450 0 3,450
= 1,725 0 1,725
(= 518 0 518
[ias 1,207 0 1,207
LEMHEAEIA S =HOHA 64,800 0 64,800
== 19,440 0 19,440
= 45,360 0 45,360
308 ARISHSO0IH 64,800 0 64,800
= 19,440 0 19,440
= 45,360 0 45,360
11 S 2SONHEZE & XA AI I 64,800 0 64,800
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S FRI=XID
opel

M HoHe =EXEX
Celr ZOoHe! MEotE X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
oS STHEAHIA & SHHAIY(0H)
64,800,000 64,800 0 64,800
== 19,440 0 19,440
= 45,360 0 45,360
ZOHQIEXRD[J| WE 58,504 62,771 N4, 267
= 2,803 3,737 AQ34
i 55,701 59,034 A3,333
301 2 E = 45,503 46,671 A1,168
= 2,803 3,737 aNe )
= 42,700 42,934 A2
01 AR 2EHSHS(RNEXRTH) 3,503 4,671 21,168
o &0l BXD(J| X
Z& 3,503,000& 3,503 4,671 A1,168
= 2,803 3,737 AQ34
= 700 9% N234
307 212+01™ 13,001 16,100 23,09
06 283 13,001 16,100 A3,09
oFOfQl XD HABH2
2 & 13,000,300 13,001 16,100 A3,099
ZoHel EsXd UK 48,121 37,920 10,201
= 9,624 7,584 2,040
s 38,497 30,336 8,161
308 AXIHMSOIA 48,121 37,920 10,201
== 9,624 7,584 2,040
= 33,497 30,336 8,161
11 I 2S04 EASAIS | 48,121 37,920 10,201
oZNQ! ESXIA(ZHIZH)
Z&E 12,030,250 «4=2D| 48,121 37,920 10,201
S 9,624 7,584 2,040
s 38,497 30,336 8,161
ZfelgsEx IO 47,805 22,954 24,851
= 33,463 16,068 17,39%
S 4,303 2,066 2,237
s 10,039 4,820 5,219
308 KXIEHMSOIH 47,805 22,954 24,851
= 33,463 16,068 17,3%
= 4,303 2,066 2,237
= 10,039 4,820 5,219
11 I 2SI 4EAS AL S| 47,805 22,954 24,851
oXe ESEX JHAEH
Z2E 11,951,250 «4=2D| 47,805 22,954 24,851
= 33,463 16,068 17,3%
= 4,303 2,066 2,237
= 10,039 4,820 5,219
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A FoI=
X [¢]
(=) —

M HoHe =EXEX
Celr ZOoHe! MEotE X (St &)
SA -3 - SA(3) - MISAY - B85 Off &K N3 A HwEZ
SHEZOH Q=B EALSY 19,000 7,600 11,400
= 9,500 3,800 5,700
S 2,850 1,140 1,710
s 6,650 2,660 3,990
402 Q1201 & 19,000 7,600 11,400
= 9,500 3,800 5,700
S 2,850 1,140 1,710
s 6,650 2,660 3,990
02 QIZEXHE AL 2 (01 &THE) 19,000 7,600 11,400
osE HOHQ FEIHEALY
Z& 3,800,000 +5H 19,000 7,600 11,400
= 9,500 3,800 5,700
= 2,850 1,140 1,710
= 6,650 2,660 3,990
D= MEBE HASE KE 9,341,666 8,726,226 615,440
= 7,358,161 6,865,809 492,352
z 13,960 13,960 0
= 916,588 855,044 61,544
= 1,052,957 991,413 61,544
JI=dEed 9,315,315 8,699,875 615,440
= 7,358,161 6,865,809 492,352
== 914,145 852,601 61,544
= 1,043,009 981,465 61,544
HNass 2A228=2 T 76,380 76,380 0
301 LEEEZ 76,380 76,380 0
02 MR 2HASFS(HAAS, XLHE) 76,380 0 76,380
oMASE IVALEEHE XA (301-030 A
SHd) 6, 70039500t 2+ 123 76,380 0 76,380
03 MBI EZ 52 (RILTHE) 0 76,380 AT76,380
OMASE FVUAHLBEHE NA(D-RZ2 S
#3) 23 0¥ 0 76,380 76,380
I=MEET MAZH(EX) 7,726,250 7,110,810 615,440
= 6,181,000 5,688,648 492,352
(= 772,625 711,081 61,544
[ias 772,625 711,081 61,544
301 LEIBE S 7,726,250 7,110,810 615,440
= 6,181,000 5,688,648 492,352
S 772,625 711,081 61,544
s 772,625 711,081 61,544
01 ASIEEHGZ2(2REXZTHRA) 7,726,250 7,110,810 615,440
SJ|IZMEEE MAZ0(1,5319)
38 7,726,250,000& 7,726,250 7,110,810 615,440
= 6,181,000 5,688,648 492,352
S 772,625 711,081 61,544
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SA: FUASTB
M 20| ZMERE HASE
el J=MeEs8d (SH9 H2)
S - B S(B) - HRAY - BES O & o4 3 o HRS2
| = 772,625 711,081 61,544
HAS 2010 DA REHLIAY 10,000 10,000 0
301 Y2 EZ 10,000 10,000 0
2 MBI SRS (HAHS, L) 10,000 0 10,000
SHAS 20D DEA REH2IA(301-03
A SEH) 1,000,000 *102 10,000 0 10,000
03 AtEl BHHAGS (R 0 10,000 210,000
SHAS 20D DEA RBHLIA(301-02
2 201H) 23 o 0 10,000 110,000
NEISXISEAHIA TIE 1,667,690 1,802,726 ~115,036
2 276,923 376,841 A%,918
= 583,935 583,935 0
b 37,000 37,000 0
= 186,985 194,604 AT,619
= 602,847 610,348 AT,4%
HAPIHE X 1,190,944 1,188,944 2,000
= 7,500 7,500 0
= 583,935 583,935 0
P 37,000 37,000 0
= 123,704 123,704 0
2 438,805 436,805 2,000
sg=x X 29,480 27,480 2,000
201 LEr2HH| 14,080 12,080 2,000
2 Z22gy| 2,000 0 2,000
oSNMAT 22 LBS 2& S
1,000242, 0002 2,000 0 2,000
HAS F0 MEoy g 67,000 67,000 0
301 Y23 67,000 67,000 0
2 ABIZBHAGS(HAAS, NLHR) 67,000 0 67,000
OMAS THA #8t01g Zbl X1 (301-080 A
SHH) 20,0002 +75% 15,000 0 15,000
oMaH, XOIHRIX A2BTE 23 (301-080A
Su) 100, 00024 *4007}2 40,000 0 40,000
ogE F2IF(301-080A SHY)
6,000,000 %28l 2,000 0 12,000
03 MBI AR 4FS (R R) 0 67,000 67,000
oXAS X 3018 JH| XIRA(01-022 |
HH) 28 0 0 15,000 15,000
oMa, TIHARIR ABPE (01-022 [
) 33 o 0 40,000 240,000
o FISIH(01-022 SHY)
233 o2 0 12,000 12,000
EEE 8,640 8,640 0
301 Y2 A3 8,640 8,640 0
2 MBI SERSHS(HAHS, L) 8,640 0 8,640
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2A:

E M

PQIEIIEOUH HlA X2

Celr XHARIHS A (SH9 H2)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hlus2
o34 Xt HIHOBI(301-030IA SHA)
20,0002 x4+ 12& 960 0 960
oM AZ S SHPfX X (301-030IA SHAH)
2,000,000 *3H 6,000 0 6,000
SFAIRE AN LRI (301-030IA SHIZ)
60,0003 «8H 480 0 480
oIt FMGI(301-030A SEA)
20,000 3«2 30! 1,200 0 1,200
03 A B EH 53 (XY M) 0 8,640 8,640
ot HIt0BI(01-22 SHYF)
AA 0= 0 960 A960
o™AZAS Xt ESHH|(301-022 SHA)
a8 03 0 6,000 26,000
oFAAE AL LAHI(01-2Z SHE)
38 0& 0 480 A480
oAt HHMUBI(01-22 |HA)
38 0& 0 1,200 21,200
NASS MASOIAIS 16,500 16,500 0
301 LetEHZ 16,500 16,500 0
2 A BEHHZ(HAAHS, NYHA) 16,500 0 16,500
oMASE MAl =5t E2ID1(301-030A =
HA) 22,0002 x750H 16,500 0 16,500
03 A B EH S (XY M) 0 16,500 16,500
oMASE MAl =5lol=2ID|(301-022 2H
d) a3 0 0 16,500 A 16,500
212=X 376,400 493,766 A117,366
= 267,800 367,718 299,918
& 52,380 60,100 NT,720
[ 56,220 65,948 N9, 728
2AZEXNXE(EX) 285,000 422,450 A137,450
= 228,000 337,960 109,960
& 28,500 42,245 A13,745
= 28,500 42,245 213,745
301 LEtBEZ 285,000 422,450 137,450
= 228,000 337,960 109,960
= 28,500 42,245 A13,745
iy 28,500 42,245 213,745
01 AISIBE XS (2 REXZE) 285,000 422,450 A137,450
S2Z=EXXNA(EX)
J33 285,000,000& 285,000 422,450 A137,450
= 228,000 337,960 109,960
= 28,500 42,245 13,745
iy 28,500 42,245 13,745
TZ2LHY MEX| 2| XA (ASLEY 0|48 S 79,600 59,516 20,084
srael)
= 39,800 29,758 10,042
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M =S
M AMBISASEAMEIA X2
el 2AE=K EEED
SA BB GR(3) - HSAY - BES Ofl 7| B o Hnz2
[ 23,880 17,855 6,025
= 15,920 11,903 4,017
301 EtE NS 79,600 59,516 20,084
= 39,800 29,758 10,042
< 23,880 17,855 6,025
s 15,920 11,908 4,017
14 JIEt2d = 79,600 59,516 20,084
oD2LHI METIZH XIZAI(KMESA)
& 79,600,000 79,600 59,516 20,084
= 39,800 29,758 10,042
< 23,880 17,855 6,025
s 15,920 11,908 4,017
K SAHE X2 120,346 120,016 330
= 1,623 1,623 0
< 10,901 10,800 101
s 107,822 107,593 229
NASA 2435 NJ(EX) 13,670 13,340 330
[ 4,101 4,000 101
fia 9,569 9,340 229
201 el 3,800 3,470 330
< 1,141 1,040 101
= 2,659 2,430 229
01 At2teltl 3,800 3,470 330
ollEsSAgs g2 Y
dd 5,0008+4662H 13 2,330 2,000 330
< 701 600 101
= 1,629 1,400 229
HY2EGHI(FL=R) 314,454 305,517 8,937
= 66,344 66,344 0
z 44,016 44,016 0
< 11,090 11,090 0
= 193,004 184,067 8,937
el 2| 287,514 278,577 8,937
= 66,344 66,344 0
= 44,016 44,016 0
< 11,090 11,090 0
s 166,064 157,127 8,937
Q2 Z0{ZelA 1Al XIR (RHAI) 17,613 8,676 8,937
101 QI24H| 17,613 8,676 8,937
03 SR (RINHA) 222+ 17,613 8,676 8,937
oo 2 &elAl IAHIXIZ (4HZE)
Z& 17,613,000 17,613 8,676 8,937
Hegs (=) 1,729,724 829,481 900,243
WEHAHXIE 711,429 715,444 ~4,015
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A FST0

I JREE (=021 D)

&2l WRHHXS (CH9: &S1)
SA - B O9I(SH) - MRALY - BAS of avo JERY RS2
LIS HHKIE 711,429 715,444 14,015

701 JIERI NS EES 646,429 650,444 24,015
01 JIEtel AN ES 646,429 650,444 24,015
oS =E0EEIH dE=
23 646,429,000 646,429 650,444 24,015
BAEXE 1,018,295 114,037 904,258
BAXE 1,018,2% 114,037 904,258
802 g+et=JIE 1,018,2% 114,037 904,258
01 = DExIeteza 764,225 84,251 679,974
o2022E KtEAFS (OIXE L&)
150,815,720 150,816 0 150,816
o2022E JIE RS M AALY 2H2=04(2018~20

21) 41,487,200& 41,488 0 41,4838
o224 22sYJ=3He €2 KIR(

Ol Rt & 66,561, 180& 66,562 66,562
o202 HHelHZ 11,532, 150% 11,533 11,533
o22E Hol==(JIx) 5,316,500& 5,317 5,317
o023 o= (Xl 8)

4,249,700& 4,250 0 4,250
o022 FAQAAE 2H X A (0IXHE

&) 33,900,580% 33,901 0 33,901

20228 JIZMEEE MAHSH

24,833,7602 24,834 0 24,834
o02F JI=MEEE HMAEHSH

22,953,000 22,953 0 22,953
ocXE MASE StAl 2SMEXIAS ALY

17,940,580& 17,941 0 17,941
o202E SHE XEY SAHIA XA

2x= 436,750& 437 437
o202 2=k EX= 89,304,310& 89,305 89,305
o022 MEX Y| XZAY BX2

210,261,250& 210,262 0 210,262
o2022d HASAtEE s XI@ ZOIUIolE @l

2id] XI& Ol 17,020& 18 0 18
o022 Atddl2tel MERA NS (SE A2

CIAb 2124H1) 356,430 357 0 357

02 Al - SHIBEZEHEZ 254,070 29,786 224,284
o02d 22sUJ= =32 E2=SRR(

OIXFEL &) 4,991,190& 4,992 0 4,992
o202 JIE KHer A XI2IAL 2H4=24(2018~20

21) 3,111,540 3,112 0 3,112
o022 XHE A (O XL E)

5,030,210& 5,031 0 5,031
o2022d T XA (SEE Y, Atddl2telAt

e124dl) oIkt 1,560 2 0 2
o202 KIYAISI & |l Mol o1

Bl 767 ,490% 768 0 768
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A FpI=X
M JRES(FLI=XD)
2ol 28NS (£ &2
SA BB GR(3) - HSAY - BES ofl b2y 7| B o Hnz2
on2d Metde BEsY
2,280,000 2,280 0 2,280
o2 MRALE HMRTA YOS
8,860,000 8,860 0 8,860
o222 ALEISXIA HHOIR B4 X
2IAF (Ol KHEZ &) 686,7502! 687 0 687
o2 SERIX KE 2ZH| ALY
1,508,850 1,509 0 1,509
o222 HOjIS 1,482,700 1,483 0 1,483
o202 EOfAL(J|X) 683,550 684 0 684
o202 FOK (XA S)
546,390 547 0 547
o222 AFE N SAH| X
657,560 658 0 658
o2 SZE0fQ! NHUSE FHAXIR(0]
XL 8t) 326,130 327 0 327
o2 ZOfOl DAY NQEY T2IY 2
o 300,000 300 0 300
o222 FOfQ! JHOI2HAIL 2G| (0IXHE
&) 26,543,970 26,544 0 26,544
o202 EOfOI=X2 2K (0| KHES)
797,480 798 0 798
o222 FONQI= X2 SAIHI (01K EE)
24,110 25 0 25
o2022E FOHQI0IZAIE SAIGSE (0]
X 8t) 202,940%! 203 0 203
02022 FONQIHFAIE BAGEL (0]
XL 8t) 3,106,060 3,107 0 3,107
o222 FOHQ! HIEAIL ABSAL|
45,0002 45 0 45
o222 HAQUAL 2% XA (0IXHE
&) 7,265,120 7,266 0 7,266
o022 SHEAME 2 (0IHEE)
738,020 739 0 739
o222 FONQIMEOISKIRME 22 (0IX
fri)) 3,066,560 3,067 0 3,067
o2 FOfIESXY T MK (0IXHE
&) 4,343,020 4,344 0 4,304
o2 J| EMEHE MH S
3,104,220 3,106 0 3,105
o202 J|EMEBE GHARHSO
2,869,000 2,869 0 2,869
o2d 2Z=X Bx2 6,697,920 6,698 0 6,698
o2 MEX|RH| XIRAY BX2
126,156,750 126,157 0 126, 157
o SHS UES SEAHIA XA
EES= 18,7102 19 0 19
o22E NASAHE 29 2435 X2
302,950 303 0 303
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A FI=X1D
H: HRES(FU=XD])
B9l BTRE CLEE)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o blnE2
o022 AtdiZel MERH N (SEH A2
2lArRIAH) B X3 35,4402 36 ¥
o024 Mol2dls BEx=
7,718,400& 7,719 7,719
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